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- GEOGRAPHY
Paper 111

Time Allowed : 2} Hours] [Maximum Marks : 150

Note :— This question paper contains seventy five (75) multiple choice questions.
Each question carries two (2) marks. Attempt all questions.

1. Which of the following is minor plate 7
(A) Arabian plate (B) Pacific piate
(C) African plate (D) Antaretic plate
2.  Which one of the following is nof a soil forming process ?
(A) Weathering (B) Gleying
(C) Translocation (D) Hydration

3. Barthquakes along the Himalaya and the foothills are best explained in

terms of :
(A) Continent Ocean collision
(B) Ocean-Ocean collision
(C) Continent-Continent collision
(D) Conservative plate movement
4. In isostacy ‘Root Hypothesis' was given by :
(A) Airy (B) Pratt

(C) Joly (D) Wilson
T.B.C.: 13/15/ET—III 2
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5. Which of the following is not correctly matched ?
(A) Geosyncline theory — H.F. Reid
(B) Thermal contraction theory — Jefireys
(C) Convection current theory  — Holmes
(D) Theory of thermal cycle — Joly
6. Which of the following is not part of youth stage of Davis's cycle of erosion?
(A) V' shaped valley
(B) Interlocking spurs
(C) Natural levees
(D) Rapids and waterfalls

7. Which one of the following pairs is correctly matched 7

(A) AN. Strahler _ Pediplain
(B) W.M. Davis — Peneplain
(C) L.C. King — . Panplain
(D) C.H. Crickmay — Slope equilibrium

8. Which of the following is not type of folds ?
(A) Monoclinal (B) Horst

(C) Isoclinal (D) Recumbent

T.B.C.: 1315/ET-III 4
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9. A steep river with a high discharge and a large supply of mobile bedload is

likely to have which of the following channel forms ?
(A) Meandering (B) Straight
(C) Braided (D) Sinuous

10. A violent torrential shewer of rain or hails along slope generally occurred in
short period but capable of considerable damage because of the large volume

of precipitated water is known as :
(A) Convectional rain
(B) Cloud burst
(C) Frontal precipitation
(D) Rain
11. Which one of the following is not a part of atmospheric depletion of solar radiation ?
(A) Scattering (B) Diffusion
(C) Reflection (D) Radiation
12. Which one is not correct about COy ?
(A) CO, is the product of burning chorcoal.
(B) CO, is mainly responsible for greenhouse effect
(C) CO, share maximum amount in atmospheric composition
(D) None of the above.

T.B.C.: 131&ET—III 6
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13. Which one is cirrectly matched ?

(A) Nimbo-stratus cloud
(B) Stratus cloud
(C) Cirro-stratus cloud

(D) Cirro-camulus cloud

~ Medium in height
— Low in height
— Low in height

— Medium in height

14. Match the following and choose the correct answer from the codes given below :

I
(a) Condensation
(b) Imsolation
(¢) Humidity

(d) Precipitation

Codes :

(@ (b) (e)
(A) 4 1 3
(B) 2 1 3
c 2 1 4
D)y 3 4 1

(1
(2)
(3)
(4)

11

Incoming solar radiation

Transformation of water vapour into water
Release of moisture

Water vapour in the atmosphere

(d)
2
4
3

2

15. Minimum deposits of Diatom Ooz are found in :

(A) East Pacific

(C) North Atlantic
T.B.C.: 1315ET-III
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16. Which one is not correctly matched ?

(A) Subsidence theory - Charles Darwin
(B) Standstill theory - Lui Agasys

(C) G@Glacial control theory — Daily

(D) Karstic saucer theory - Abe and Assano

17. Which one is not true ?
(A) 21-22°C sea water temperature is ideal for corals
(B) Warm ocean currents carry nutrients to corals.
(C) Corals are tropical marine lives
(D) Sea level changes help coral growth
18. Which one is a warm current 7?7
(A) Western Australian current
(B) Agulhas current
(C) Bengula current
(D) California current
19. Which one is associated with Ozone ?
(A) Montreal protocol (B) Kyoto protocol

(C) Davos Protocol (D) London convention

T.B.C. : 13/15/ET—I1I 10
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20.

21.

22.

23.

Biodiversity loss is due to :

(A) Slash and burn cultlivation

(B) Monoculture

(C) Climate change/Global warming

(D) All of the above

Which one is not a Savana Ecosystem ?

(A) Prairie (B) Gran Chaco
(C) Matograsso (D) Compoz
Who was author of ‘Cosmos’ ?

(A) Ratzel (B) Ritter
(C) Humboldt (D) Hettner
The quantitative revolution was started in :

(A) France (B) Germany
(C) Russia (D) USA
Who of the following is a Roman geographer ?
(A) Thales

(B) Ptolemy

(C) Hipparcus

(D) Strabo

T.B.C. : 13/15/ET—III 12
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25. Who is author of “Historical Geography of United States”™ ?
(A) Taylor (B) Barrows
(C) Brown (D) None of these
26. Behavioural approach was started in geography since :
(A) 1940 (B) 1950
(C) 1960 : (D) 1970
27. E.C. Semple's work “Influence of Geographical Environment” was influenced
by :
(A) Ratzel’s “Anthropogeography”
(B) Ratzel's “Organic Theory of State and Society”
(C) Ratzel’s. “Political Geography”
(D) All of the above
28. Who differentiated between General and Regional Geography ? |
(A) Richthofen (B) Peschell
(C) Penck (D) - Hettner
29. “It is geographer’s duty to interpret nature” was stated by :
(A) Ratzel (B) Semple

(C) Griffith Taylor (D) Huntington

T.B.C. : 13/15/ET—III 14
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30. Which of the following having maximum number of speakers in India ?
(A) Urdu language (B) Tamil language
(C) Marathi language (D) Bengali language
31. Demographic Transition is :
(A) Change in size of population
(B) Social Transition
(C) Cultural Transition
“(D) All of the above
32. The most population region of world is :
(A) MOHSOOI:I Asia Realm
(B) China-Tibet-Mangolia ’Realm
(C) Pari-American Realm
(D) Sub-Saharan Realm
33. In the last stage of Demographic Transition the nature of migration is :
(A) Urban to Urban migration (B) ‘Urban to Rural migration
(C) Rural to Urban migration (D) Rural to Rural migration

T.B.C.: 1315/ET—II1 16
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34. Population policy of developing countries are :
(A) To check the population growth
(B) To reduce gender gap
(C) To enhance human health
(D) All of the above
35. Which one of the following is not a type of rural settlements ?
(A) Dispersed
(B) Semi-nucleated
(C) Compact
(D) Circular.
36. Multi-nuclei model of Urban structure was given by :
(A) Harris and Ullman (B) H. Hoyat
(C) R.L. Singh (D) J. Fredric
37. Which one is not a lake located city ?
(A) Detroit (B) Udaipur

(C) Chicago (D) Varanasi

TB.C.: 1315ET-II 18
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38. Who said “cities do not grow up of themselves, countrysides set them upto tasks
that must be performed in central places” ?

(A) Mark Jefferson

(B) Walter Christaller

(C) Peter Haggett

(D) E.W. Burges
39. Which one of the following is labour intensive industry ?

(A) Petrochemical

(B) Aluminium

(C) Jute textiles

(D) Food processing
" 40). Largest producer of natural rubber in the world is :
(A) Brazil (B) Thailand
(C) India (D) Malaysia

41. Which is not correctly matched ?

(A) Namadic Hearding - Mangolia
(B) Subsistence grain -  Egypt

(C) Intensive subsistence rice —  Bangladesh
(D) Rudimental farming —~  Argentina

T.B.C.: 1315/ET—III 20



38. el wm @1 TR ¥R @ W T on ¥ afes wef & fafau sl & fe
i B o B I

(D) % ==y TW
39. Frefafea § #° 99 waH =M & 2
(A) W2rEmEA
(B) Tafufm
(C) < THTH
(D) @ FEER
40. fave d waw wfus wElw @ F IORF €
(A) e
(B) s
(C) wra
(D) W
41, #9 E gafea 78 § 2
(A) SeaErE TEEE - it
(B) frae® ¥ - form
(€) 7 frafed =ed - AR
M) wifus 9 - FEfvIE
T.B.C. : 13/15/ET—III 21 P.T.O.



42. Petroleum is not found in :

(A) Lake superior (B)

(C) Caspian Lake (D)

Gulf of Persia

Lake Maracaibo

43. Among the following which one is longest Railway 7

(A) Canadian Pacific Railway
(B) Canadian National Railway
(C) Union Pacific Railway
(D) Trans Australian Railway
44. Which is not correctly matched ?
(A) Grand Bank -
(B) Great Fisher Bank -
(C) Dogger Bank -
(D) Honshu Bank -
45. Which one is not true ?
(A) Commercial dairy Farming
(B) Commercial grains and Livestock

(C) Truck farming
(D) Commercial grain farming

T.B.C.: 1315ET—III 22
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47.

48.

49,

Plantation farming is not found in :
(A) Ghana (B) Ivory Coast
(C) Nigeria (D) Morrocco

Which of the following is not correctly matched ?

(A) Maori - Newzealand
(B) Maasai - Burkina Faso
{(C) Bushman - Kalahari

(D) Nordic - Scandinavia

Which is tribe largest in South Africa country 7
(A) San Bt.lshmen (B) Maasai
(C) Hausa (D) Zulu

Which of the following is associated with Pygmy tribe ?

)
»

(A) Congo
(B) Indus

(C) Tunasan

(D) Nile

T.B.C.: 1315/ET—III 24
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50. Which of the following is not correctly matched ?

Countries Capitals
(A) Mali - Bamako
(B) Burkina Faso - Ouagadougou
(C) Ethiopia - Asmara
(D) South Sudan - Juba

51. Which one of the following is not member of SAARC ?
(A) Bhutan |
(B) Mauritius
(C) Maldives
(D) Afghanistan
52. Which is not included in identifying the social groups ?
(A) Skin colour (B)  Hair
(C) Blood group (D)  Finger
53. Which of the following is net type of region ?
(A) Damodar region
(B) Formal region

(C) Functional region

(D) Ad-hoc region
T.B.C. : 13/15/ET—IIT 26



50, Frafafaa § | 9 w6 gifea @ & 2
TTAUTHT

4
(A) e

(B) FU&HT wE
(C) zafam

(D) =feor gem

HHTHT

e

HAEHA

=

51, Frefafea & @ 991 ©F 9% & S5 & £ 2

(A) gz
(B) H#riys

(C) woRE
(D)  FHEMEEE

52. WO WE w1 Ua @ H fHew wte a8 fmm s 2

(A) ==

(C) & TIE

(B)

(D)

53. fr=fafes § @ o w29 $ v & & ?

(A) THERT ¥
(B) 9T W2Vl
(C) wifw wew
(D) g wRew

T.B.C. : 13/15/ET—III

27

ElE!

et

P.T.O.



54. The theory of cumulative causation and spatial interaction was given by :
(A) W. Rostow (B) Friedmann
(C) Hartshorne (D) G. Myrdal

55. Who among the following is not associated with delineation of regions ?
(A) Ashok Mitra (B) ML.N. Pal
(C) W. Rostow (D) R.P. Mishra

56. Which of the following five year plans, first time incorporated a special chapter

on Balanced Regional Development in plan document ?
(A) Third (B) Fourth
(C) Fifth (D) Sixth

57. Which of the following committees was set up for specifying the criteria for

identification of backward areas ?
{A) N.N. Wanchoo (B) B.D. Pande
(C) A.V. Srinivasan (D) K.V. Sundaran
58. Which of the following techniques is being used to delineate functional region ?
(A) Fixed index method
(B) Cluster method

(C) Flow analysis

(D) Variable index method
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59. Which of the following was considered more appropriate for agricultural

development planning ?
(A) Soil zone
(B) Vegetation zone
(C) Agro-climatic zone
(D) Climatic zone
60. Match the columns and choose the correct answer from the codes given below :
(A) (B)

(a) Narmada () Sri Sailam Dan

(b) Krishna (ii) Omkareshwar Dam
(e) Cauvery. (izi) Bagalihar Dam
(d) Chenab (iv) Mettur Dam
Codes :
(a) (&) (e) (d)
(A) (@) () (i) (1i)
(B) () (i1} (iv) (&)
c @ (i) @ - (w)
D) (i) (iii) (@) @
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